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3. Arrange the following elevations in ascending 
order: 


2,000 feet, -800 feet, 0 feet, -300 feet.


1. Arrange the following temperatures in 
ascending order: 


-5°C, 3°C, -2°C, 7°C. 


2. Place the following bank account balances in 
descending order: 


-£100, £0, £500, -£300. 


4. Place the following distances from a starting 
point in descending order: 


15 miles, 100 miles, 17 miles, 50 miles. 

5. Arrange the following bank account balances 
in ascending order: 


-£1.50, -£6.00, £4.00, -£3.00.

1. How to list numbers in size order

Scenario Questions:
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10. Place the following distances from a city 
centre in descending order: 


2 miles, 15 miles, 8 miles, 13 miles. 

6. Place the following temperatures in a freezer in 
descending order: 


8°C, -2°C, -5°C, 3°C. 


7. Arrange the following bank account balances in 
ascending order:


 -£9,000, £6,000, -£4,000, £0.

8. Place the following weights of objects in 
descending order: 


-12 kg, 9 kg, -3 kg, 2 kg. 


9. Arrange the following ages of family members 
in ascending order: 


19 years, 7 years, 12 years, 57 years. 

Scenario Questions:

1. How to list numbers in size order
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1. How to list numbers in size order

Scenario Questions: Answers 

3. Arrange the following elevations in ascending order: 2,000 feet, -800 feet, 0 feet, -300 feet.


1. Arrange the following temperatures in ascending order: -5°C, 3°C, -2°C, 7°C. 


2. Place the following bank account balances in descending order: -£100, £0, £500, -£300. 


4. Place the following distances from a starting point in descending order: 15 miles, 100 miles, 
17 miles, 50 miles. 

10. Place the following distances from a city centre in descending order: 2 miles, 15 miles, 8 
miles, 13 miles. 

5. Arrange the following bank account balances in ascending order: -£1.50, -£6.00, £4.00, -
£3.00.


6. Place the following temperatures in a freezer in descending order: 8°C, -2°C, -5°C, 3°C. 


7. Arrange the following bank account balances in ascending order: -£9,000, £6,000, -£4,000, 
£0.


8. Place the following weights of objects in descending order: -12 kg, 9 kg, -3 kg, 2 kg. 


9. Arrange the following ages of family members in ascending order: 19 year old, 7 years old, 
12 years old, 57 years old. 

1. -5°C, -2°C, 3°C, 7°C

2. £500, £0, -£100, -£300

3. -800 feet, -300 feet, 0 feet, 2,000 feet 

4. 100 miles, 50 miles, 17 miles, 15 miles

5. -£6.00, -£3.00, -£1.50, £4.00

6. 8°C, 3°C, -2°C, -5°C 

7. -£9,000, -£4,000, £0, £6,000 

8. 9 kg, 2 kg, -3 kg, -12 kg

9. 7 years old, 12 years old, 19 year old, 57 years old 

10. 15 miles, 13 miles, 8 miles, 2 miles
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